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Run 5947 triggerwise, sums: All

Endries: 15

Mzan: 1238.466T +'+ 124.3898

Std Dew: £81.7300 +1- B7.8588
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Run 5947 triggerwise, sums: Beam ON, Laser ON

Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000
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Run 5947 triggerwise, sums: Beam OFF

Endries: 15

Maan: 17238.466T + 124.3886

Sid Dwrw: £81.7390 4+ BY.B588

600

800

1000

1200

1400

|
1600

]
2000
5UMm

|
1800

Run 5947 triggerwise, sums: Beam ON, Laser OFF

Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




